1. [image: Text, table

Description automatically generated with medium confidence] 






2. [image: A picture containing table

Description automatically generated]  







3. [image: Diagram

Description automatically generated]  







4. [image: Text, letter

Description automatically generated] 




5. [image: Graphical user interface, text, application

Description automatically generated]
image3.png
Complete the division sentences.

o 4500+ 10= | o9 [ Jerw0=7s
62000+ 10=[ | [ J+100=76
739300+ 10=[ | [ J+1000=76

b) 4500+100= | ) [ |+1000=30
62000+ 100=[ | [ ]+ 1.000=300
739300+ 100=[ | [ ]+ 1.000=3,000
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In 2019, 568,000 houses were built.

In 2018, 10 times fewer houses were built.
In 2017, 100 times fewer houses were built.
a) How many houses were built in 20182
b) How many houses were built in 2017?

€) How many houses were built between 2017 and 2019?
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Alex is thinking of a number.
She divides it by 100

The answer has one more in the hundreds column than in the
tens column.

The total of the digits is 15
What could the number be?

How many different answers can you find?
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Work out the multiplications.
a) 45 x 100

52 x 100
70 x 100

b) 612 x 100
715 x 100
720 x 100

d)

41 x 10
41 x 100
41 x 1,000

10 x 952
100 x 952
1,000 x 952
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Complete the multiplication sentences.

a)s2x[__ =520 [ Jx370=370

b) 95x|:|=950 g)|::|x100=8,200
9 136x[  |=1360 h [ ]x100=82,000
d272x[ |=272000 @[ ]x10=39000
e) 6,200 = |:| x 62 i) 1,000 x :] = 80,000




